Name Anowers, Date: Class:
gcientific Notation: L,arge and S'mau Numbers

E Switch these numbers into standard form.

= 1) 9.10x10™ 9.10x10° 2) 3.18x107° 3.18x10°

: oL CURRIK 229005

1 .009| | .000003(% 3120000

3) 4.82x107° 4.82x10° 4) 3.85xi0‘3 3.85x10°

@ooO'—f 2 %8009, 00326 3350,
ooooLfg \ 122000 ; ,005868 [3%60"[ |

5)534><107 - 534x107 - 6) 3.70x 107" 3.70 x10*

W\’g\oﬁgjw 9&3\9\% 0003710 33005

suultch these humbers into SClehtiFiC Nocat:on accurate to 2 decimal places.

5 7) 0000543 ) 54,300 ) LYy
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10) 000987 11) 0&429 12)5231
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» These problems are in sCientific notation. SwitCh thet to standard form.

= 16) 2x10° 17) 8§x10° 18) 132 x10°
: 855 | 339005 :
| | Q00 | 1220000
19) 3.12x10" 20) 5.4 x 10? \ 21) 1.6x10 :
31200 - sY4L 00 :
SR __ | Lo :

31200 | (100 ]

1S the humber in sCientific hotation? If it is not, correctly write it in sCientific hotation.

22) 52.6 x10°&incorrect 23) ’
53,9 < 5380, 5. X 10] [)’leﬁ” (cOTT
25) 6.03x10 : 26) 5.8 x10’ 27) 78.4 x10° € ncorrect
correct] ‘ correcﬂ 13422085
O, 4 Y
Word Problems ' 18&3}:229” 1E X0

28) Mr. Griffin’s class is studying the solar system. The circumference of the Earth at the
equator is-about 2¢,900 miles. Express this hutmber in sCientific notation. .

‘Qﬁﬁi‘% \é?;"fciKlD*mi

29) ‘The speed of light is approximately 6.71x10° files per hour. Express this humber in

standard Form. (D W
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30) The state of Colorado covers about 1.04x10° Sguare miles. The Indian Qcean covers
about 2.808%1207 square miles. Which is bigger? How much bigger?

CO'OVadO; ‘w - nDl_ﬂ. 000 W?
Indlian Crean= 23980000, 3 9040,000 mi”




